[bookmark: _GoBack]Daily Practice – 46
1) 542.84 + 672.49 =
2) 914,751 – 641,832 =
3) 78 x 45 =
4) 78,931 ÷ 7 = 
5) What’s larger:  or 
6) 25% of 600 = 
7) 53 = 
8)  ÷ 2 = 
Daily Practice – 45
1) 161,379 + 554,178 =
2) 748.4 – 379.31 =
3) 144 x 35 =
4) 8,903 ÷ 6 = 
5)  -  = 
6) 14.25 x 100 = 
7) 25 – k – k = 15       k = ____
8)  x  = 
Daily Practice – 43
1) 197,152 + 346,121 =
2) 671.48 – 348.76 =
3) 253 x 45 =
4) 47,816 ÷ 4 = 
5) What’s larger:  or 
6) 149.6 ÷ 1,000 = 
7)  as a mixed number
8)  x  = 
Daily Practice – 42
1) 714.07 + 189.67 =
2) 97,154 – 34,815 =
3) 82 x 74 =
4) 5,793 ÷ 3 = 
5)  +  = 
6) 50% of 246 =
7)  5 – 2 x 2 = 
8)  ÷ 4 = 
Daily Practice – 41
1) 419,078 + 147,279 =
2) 718.2 – 169.37 =
3) 176 x 42 =
4) 9,782 ÷ 2 = 
5)  -  = 
6) 781.5 ÷ 10 = 
7) 72 =
8)  x 4 =
Daily Practice – 44
1) 570.89 + 184.57 =
2) 19,816 – 5,486 =
3) 91 x 56 =
4) 66,790 ÷ 5 = 
5) 1  +  = 
6) 20% of 120 =
7) 4  as an improper fraction:
8)  ÷ 5 = 
9) 
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